



OFFICE OF THE CITY MANAGER



**TO:** Honorable Mayor and Members of the City Council  
**FROM:** Patrick Urich, City Manager *Patrick Urich*  
**DATE:** June 5, 2015  
**SUBJECT:** Issues Update

The following are issues related to the City for the weekly Issues Update. If there are additional items you believe should be included, please let me know.

### **Sculpture Walk Peoria 2015**



The inaugural Sculpture Walk Peoria opens on Saturday, June 6, 2015, at 3:00 p.m. in Peoria's Warehouse District. Fifteen large-scale sculptures will be featured along Washington Street between Liberty and Oak Streets in Peoria, Illinois. The event is free and open to the public. In case of rain, the event will move to the Peoria Riverfront Museum Auditorium.

Fifteen artists representing seven states will install their artwork for a period of twelve months. Every year, a new set of sculptures will be installed with the goal of growing beyond the current fifteen locations. "Sculpture Walks" differ from classic public sculpture in that the pieces typically rotate out every year. Tours, people's choice awards, games and education are part of the programming for a sculpture walk – and Sculpture Walk Peoria is no exception.

### **Local Historic District Rehab Program**

City Council approved the Local Historic District Rehab Program using federal funds from the City's Community Development Block Grant (CDBG) program. This is a pilot program and the amount of applications received and processed would determine the program's continued funding. See attachment for further information.



### City of Peoria Facebook Page

We continue to provide information and updates on the City of Peoria Facebook page. Please take a minute and “like” it, so you don’t miss any news. If you have city-relevant information you think would be interesting, please email to [speterson@peoriagov.org](mailto:speterson@peoriagov.org)

[www.facebook.com/peoriail](http://www.facebook.com/peoriail)

### Citizen Police Academy



The 2015 Citizen Police Academy began on Wednesday, June 3. The first session included a presentation about the Police Department’s Crime View mapping and a tour of the Emergency Communications Center. Many students are leaders in their neighborhood associations or affiliated with a watch group.

### Faces of the East Bluff Gallery Show



East Bluff Community Center, in partnership with the City of Peoria has received a grant from Associated Bank to continue the Faces of the East Bluff public art initiative. The funding will be used to take the ‘Faces of the East Bluff’ on the road, with prints of the individual ‘faces’ featured in the Faces of the East Bluff mural, displayed at two gallery style art events.

## Issues Update

June 5, 2015

The first event will be held on Wisconsin Avenue on Saturday, July 11<sup>th</sup> from 4:00 P.M. to 7:00 P.M. This will be a fun event for residents in the neighborhood, and an opportunity to show off the artwork and the Corridor to residents throughout the City. The second event is tentatively scheduled as part of First Friday activities in August.

The Faces of the East Bluff prints will become a permanent art display at the East Bluff Community Center, following the two gallery events. A dedication of the artwork at the Community Center will take place at a date to be determined in September.

### **Economic Development**



Parsec Enterprises recently paid off their City of Peoria Revolving Loan Fund loan. The \$147,250 loan was issued in 2005 to help Parsec expand their watch repair businesses. Since the loan was issued in 2005, Parsec has grown from 22 employees to their current total of 59. The 38-year old company has a contract with the largest jeweler in the United States, Sterling Jewelers, to repair nearly 1,000 watches a week. Congratulations to owners Marc and Diedre Young on their success!

### **Economic Development**

The East Village Growth Cell Advisory Committee will review the updated guidelines for the residential housing program at the July 7<sup>th</sup> committee meeting. The housing program, available in 2016, will provide a 50% grant match to the owner's contribution for eligible residential improvements. Please see the attachment for more information.

### **Planning & Zoning**

The July Planning and Zoning Commission meeting has been rescheduled to Tuesday, July 7<sup>th</sup> at 1:00 P.M. due to the 4<sup>th</sup> of July Holiday

### **ECC Monthly Reports for May**

Please see the attached report for May 2015.

### **Historic Preservation Commission Agenda**

The Historic Preservation Commission Agenda for June 24 is attached.

### **Housing Court Cases**

The list of housing court cases scheduled for June 9 is attached.

## Issues Update – Local Historic District Rehab Program

City Council approved the Local Historic District Rehab Program using federal funds from the City's Community Development Block Grant (CDBG) program. This is a pilot program and the amount of applications received and processed would determine the program's continued funding.

Below is an outline of the guidelines for the Program:

- **Eligible Applicants:** Homeowners, whose annual adjusted gross income is less than or equal to 80% of the Area Median Income (AMI). Using the 80% AMI cap, the maximum income for a family of four would be \$50,950. This cap would be adjusted based upon the annual release of the AMI for Peoria County.
- **Eligible Properties:** Owner-occupied, single family properties located in local historic districts. Properties must be current on property taxes, mortgage and homeowner insurance. Contract for deed properties are not eligible.
- **Amount of Assistance:** A maximum amount of \$15,000 per property. No dollar match contribution is required by the homeowner.
- **Eligible Rehab Costs:** Exterior only improvements can be addressed with this program. Project's scope of work will be approved by the City's Historic Preservation Commission and Rehab Staff.
- **Continued Program Compliance:** During the first year following project completion, the homeowner cannot vacate and lease the property; turning the property into a rental property. Additionally, if the homeowner sells the property within the first year following project completion and as a result of the resale makes a profit, the homeowner will owe back to the City a portion of the CDBG funds provided. 1/12<sup>th</sup> of the total assistance provided will be forgiven each month. Special permitted transfers are allowed within the first year that addresses the issue of foreclosure, death of owner, etc. A deed covenant/restriction will be recorded against the property to secure the one year provision. The homeowner will pay the recording fees of the deed covenant/restriction.

To obtain a copy of the application, please visit the City's website at [www.peoriagov.org](http://www.peoriagov.org), under Community Development, Grants Management, Rehab Applications. For questions regarding the program, eligibility and application process, please contact Nicole Frederick, Grants Manager at (309) 494-8606 or [nfrederick@peoriagov.org](mailto:nfrederick@peoriagov.org).



**EAST VILLAGE GROWTH CELL TAX INCREMENT FINANCING DISTRICT (TIF)**  
**HOUSING PROGRAM**  
**GUIDELINES & APPLICATION**

**PROGRAM OVERVIEW**

The East Village Growth Cell Tax Increment Financing District (TIF) Housing Program is grant program which provides up to \$15,000 of assistance to property owners for permanent building and site improvements on parcels within the East Village Growth Cell boundary.

To be considered for the East Village Growth Cell Housing Program, property must be located within the boundaries of the East Village Growth Cell TIF and applicant(s) must own the property. Vacant property qualifies if proposed to be owner-occupied within 90 days from the date of completion of work associated with any approved application.

**Level of Assistance:**

The **East Village Growth Cell Housing Program** will provide up to \$15,000 in assistance to home owners for qualifying residential improvements. The grant is provided as a 50% match to the owner's contribution. The minimum project is \$2,000, with a minimum matching grant of \$1,000 and the maximum project is \$30,000, with a maximum grant match of \$15,000. The property owner can reapply annually, but the maximum grant for a five year period may not exceed \$15,000. Eligible projects include exterior improvements, with the allowance for mechanical upgrades and energy efficiency improvements. The property owner must pay 100% of their cost (50% of the total project cost) to the contractor prior to any work being done. The City of Peoria will pay the remaining 50% directly to the contractor upon an approved final inspection.

If an individual lives in an owner-occupied house and has an income less than 80% of the area median income, the individual may qualify for a 100% grant. Community Development Block Grant (CDBG) funds may be used to pay for the owners match. Please contact City staff to determine if CDBG funds are still available and for income qualification guidelines.

**Grant Award:** Applications will be for owner-occupied properties available in January 2016. All completed applications submitted before February 15, 2016 will be reviewed by the City of Peoria and the Executive Director of East Bluff Neighborhood Housing Service. Should the grant dollars requested be more than the available grant dollars, the following prioritization will be used:

1. Exterior Improvements
2. Mechanical Systems Upgrades
3. Energy Efficiency Improvements

If funding is still available, owner-occupied property owners can submit completed applications after the February 15<sup>th</sup> initial review date. Applications will be reviewed on a first come first serve basis thereafter.

The East Village Growth Cell Advisory Committee will review the applications and disbursements at the July 2016 meeting. At this meeting, the Committee will determine if non-owner occupied properties will be allowed to apply to the program. Contract for deed properties would be included in the non-owner occupied timeline for submittal.



### **Resolution of Environmental Issues Prior to Program Assistance**

The following items must be resolved prior to housing assistance being made available.

- All garbage, debris, old appliances, and dilapidated furniture must be removed from the exterior.
- Garbage and debris within the structure must be removed.
- Motor vehicle parts (including batteries and tires) must be removed.
- All grass and weeds must be less than 10 inches high at closing.
- No bushes, shrubs, or trees are permitted to block the public right-of-way.
- All unlicensed vehicles must be removed from the property or properly licensed.

### **Other Requirements / Information:**

- Property taxes must be paid, no City liens (with the exception of mortgages) may exist on the property, and the property must have active homeowner's insurance coverage.
- Repairs that would be made under a homeowner's insurance policy will not be covered.
- If a property is found to have a code violation(s), funds received must be used to resolve violations as part of any loan application. At the time of post inspection, no code violations may be present.
- Property owners may only use contractors from the City of Peoria's rehabilitation contractor list. See attached list of approved contractors.

### **Applications for EVGC Housing Program funds by EVGC Advisory Committee Members**

The intent of the EVGC Housing Program is for all property owners within the East Village Growth Cell to have equal opportunity to benefit from the Program if the above guidelines are met. EVGC Advisory Committee members residing within the EVGC boundary are eligible to apply for and receive funding through the EVGC Housing Program; however, in recognition of the perception of a conflict of interest, the final decision on all EVGC Housing Program applications will be made by City staff and EBNHS Executive Director.

### **All applications must include the following documents:**

1. Copy of recorded deed as proof of property ownership.
2. Insurance declaration page as proof of property insurance
3. Paid receipts or escrow statement as proof of paid property taxes
4. A current exterior and/or interior photograph of the building as it presently appears

**Return application & all copies of documents to: City of Peoria, Community Development Department, 419 Fulton, Suite 300, Peoria, IL 61602 Any questions – call (309) 494-8600.**

**All incomplete/ineligible applications will be denied.**



**CITY OF PEORIA  
EAST VILLAGE GROWTH CELL HOUSING PROGRAM**

Name of Applicant: \_\_\_\_\_  
Address: \_\_\_\_\_ ZIP+4 \_\_\_\_\_  
Primary Phone Number: \_\_\_\_\_ Social Security # \_\_\_\_\_  
How do you own your property? Mortgage \_\_\_\_\_ Own \_\_\_\_\_ Other \_\_\_\_\_  
Are there any back taxes or City liens owed on property? \_ Yes \_ No Is your property insured? \_ Yes \_ No  
Company \_\_\_\_\_ Agent: \_\_\_\_\_

*Please provide a brief narrative of the work to be performed (attach additional pages as needed):*

\_\_\_\_\_  
\_\_\_\_\_  
\_\_\_\_\_  
\_\_\_\_\_  
\_\_\_\_\_  
\_\_\_\_\_  
\_\_\_\_\_  
\_\_\_\_\_  
\_\_\_\_\_  
\_\_\_\_\_

I(WE) CERTIFY THAT I(WE) ARE THE OWNER(S) OF THIS PROPERTY AND THAT ALL STATEMENTS MADE ON THIS APPLICATION ARE TRUE AND CORRECT TO THE BEST OF MY(OUR) KNOWLEDGE AND BELIEF. I(WE) UNDERSTAND THAT ANY WILLFUL MISSTATEMENT OF FACT OR THE FAILURE TO PROVIDE MATERIAL INFORMATION WILL KEEP THIS APPLICATION FROM BEING CONSIDERED. I(WE) UNDERSTAND THAT THE SUBMISSION OF THIS APPLICATION DOES NOT GUARANTEE THAT I(WE) WILL BE GIVEN A REHABILITATION GRANT/LOAN. I(WE) HEREBY AUTHORIZE THE CITY OF PEORIA TO INSPECT THE PROPERTY AND TO OBTAIN VERIFICATION FROM ANY SOURCE NAMED IN THIS APPLICATION.

Signatures: (All owners must sign): \_\_\_\_\_ Date: \_\_\_\_\_ Date: \_\_\_\_\_

Approved: \_\_\_\_\_ Date: \_\_\_\_\_

**Emergency  
Communications  
Center**



**Monthly Report  
May 2015**

**Peoria  
9-1-1**

CITY OF PEORIA  
EMERGENCY COMMUNICATIONS CENTER 2015 ANNUAL REPORT

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	TOTAL	2014 Totals
Landbased 9-1-1 Calls	2,326	2,036	2,386	2,318	2,442								11,508	27,714
Wireless 9-1-1 Calls	6,822	5,837	6,516	6,475	7,591								33,241	76,573
<b>TOTAL 9-1-1 CALLS</b>	<b>9,148</b>	<b>7,873</b>	<b>8,902</b>	<b>8,793</b>	<b>10,033</b>	0	0	0	0	0	0	0	<b>44,749</b>	<b>104,287</b>
Peoria Police Incoming Calls	7,072	6,425	7,428	7,501	8,427								36,853	93,002
Sheriff's Police Incoming Calls	2,486	2,274	2,417	2,725	2,864								12,766	32,833
<b>TOTAL POLICE INCOMING CALLS</b>	<b>9,558</b>	<b>8,699</b>	<b>9,845</b>	<b>10,226</b>	<b>11,291</b>	0	0	0	0	0	0	0	<b>49,619</b>	<b>125,835</b>
Volunteer Fire/EMS toll free calls	20	13	27	37	28								125	414
Peoria Fire Incoming Calls	615	458	578	716	732								3,099	8,731
<b>TOTAL FIRE INCOMING CALLS</b>	<b>635</b>	<b>471</b>	<b>605</b>	<b>753</b>	<b>760</b>	0	0	0	0	0	0	0	<b>3,224</b>	<b>9,145</b>
Operator Assist Calls/Alarm Calls	828	771	765	892	1,025								4,281	10,763
Ambulance Incoming Calls	321	271	252	252	235								1,331	2,531
ECC Supervisor Incoming Calls	790	764	824	915	951								4,244	9,794
Richwoods Dispatcher Incoming Calls	82	73	77	95	109								436	985
Downtown Dispatcher Incoming Calls	58	51	65	69	57								300	733
Prep 2 Dispatcher Incoming Calls	615	582	581	681	701								3,160	8,298
C-MED Dispatcher Incoming Calls	52	29	32	42	34								189	458
County Sheriff Dispatcher Incoming Calls	40	46	27	37	45								195	524
Fire Dispatcher Incoming Calls	90	51	73	85	89								388	1,020
OverFlow Dispatcher Incoming Calls	20	15	10	9	6								60	113
Call Taker Incoming Calls	0	3	0	0	1								4	12
<b>TOTAL INCOMING EXTENSION CALLS</b>	<b>1,747</b>	<b>1,614</b>	<b>1,689</b>	<b>1,933</b>	<b>1,993</b>	0	0	0	0	0	0	0	<b>8,976</b>	<b>21,937</b>
<b>TOTAL OUTGOING EXTENSION CALLS</b>	<b>5,291</b>	<b>5,141</b>	<b>5,626</b>	<b>5,402</b>	<b>6,002</b>								<b>27,462</b>	<b>67,135</b>
Peoria Police Dispatches/On view	7,686	6,794	7,682	8,421	9,295								39,878	101,724
Peoria County Sheriff Dispatches/On view	2,683	2,350	2,575	2,717	3,021								13,346	29,166
<b>TOTAL POLICE DISPATCHES/ON VIEW</b>	<b>10,369</b>	<b>9,144</b>	<b>10,257</b>	<b>11,138</b>	<b>12,316</b>	0	0	0	0	0	0	0	<b>53,224</b>	<b>130,890</b>
Air National Guard Fire Dispatches	8	5	4	1	1								19	71
Akron-Princeville Fire Dispatches	19	14	24	28	5								90	231
Brimfield Fire Dispatches	46	23	26	27	30								152	378
Dunlap Fire Dispatches	38	27	35	55	32								187	373
Elmwood Fire Dispatches	13	12	10	11	10								56	142
Limestone Fire Dispatches	117	117	111	111	100								556	1,357
Logan-Trivoli Fire Dispatches	44	38	42	38	42								204	443
Peoria Fire Dispatches	1,613	1,424	1,546	1,571	1,665								7,819	18,637
Timber-Hollis Fire Dispatches	32	22	37	27	19								137	345
Tuscarora Fire Dispatches	1	3	9	6	4								23	48
West Peoria Fire Dispatches	44	43	46	45	45								223	547
MABAS Fire Calls	1	3	8	8	1								21	41
MABAS EMS Calls	0	0	0	0	0								0	0
<b>TOTAL FIRE DISPATCHES</b>	<b>1,976</b>	<b>1,731</b>	<b>1,898</b>	<b>1,928</b>	<b>1,954</b>	0	0	0	0	0	0	0	<b>9,487</b>	<b>22,613</b>
AMT Ambulance Dispatches	1,130	945	1,108	1,059	1,065								5,307	14,975
APA Ambulance Dispatches	15	14	14	15	5								63	169
BYE Ambulance Dispatches	73	37	32	31	39								212	479
<b>TOTAL AMBULANCE DISPATCHES</b>	<b>1,218</b>	<b>996</b>	<b>1,154</b>	<b>1,105</b>	<b>1,109</b>	0	0	0	0	0	0	0	<b>5,582</b>	<b>15,623</b>
Peoria County Coroner Incoming Calls	166	175	230	178	231								980	2,190
Community Messaging System Call-outs	15	15	9	20	27								86	250
Telephone Trouble Reports Completed	0	0	0	4	2								6	5
ETSB Equipment Trouble Reported	5	8	9	6	5								33	70
Citizen Concerns	1	3	0	2	3								9	40
CD Requests from State's Attorney's Office	7	11	12	5	5								40	57
CD Requests from FOI / Subpoena	4	6	10	1	1								22	78
CD Requests from Inner Departmental	9	7	8	7	10								41	78
<b>Total Number of CD Requests</b>	<b>20</b>	<b>24</b>	<b>30</b>	<b>13</b>	<b>16</b>	0	0	0	0	0	0	0	<b>103</b>	<b>213</b>
ILEAS Call Outs	0	0	0	0	0								0	4
JULIE Dig	121	40	85	32	34								312	822

## Yearly Summary

	<b>Number of Calls</b>	<b>Dispatch Response Time</b>	<b>Police Response Time</b>	<b>Total Time</b>	
<b>PEORIA POLICE</b>					
Urgent	13235	1.15	3.95	5.10	
Routine	12773	10.35	5.57	15.92	
Backlog	3571	21.57	7.53	29.10	
<b>PEORIA COUNTY SHERIFF</b>					
Urgent	2125	1.67	6.84	8.50	
Routine	2897	9.62	8.80	18.42	
Backlog	197	33.92	11.23	45.15	
	<b>Number of Calls</b>	<b>Dispatch Response Time</b>	<b>Fire Response Time</b>	<b>Total Time</b>	<b>Average Turnout Time</b>
<b>PEORIA FIRE</b>	7745	0.66	4.35	5.01	1.53

City of Peoria  
Emergency Communications Center

Police Department  
Urgent Calls for Service  
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
January 2015	Number of Calls	90	110	374	183	39	217	111	128	321	230	202	72	74	219	6	113	110	2599			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	1.5	0.8	1.2	1.4	0.8	2.8	0.7	2.0	2.7	2.0	1.4	0.9	1.4	1.3	0.6	1.1	1.7	4278.0	2599	1.65	
	Police Response Time	2.6	3.6	3.0	2.9	2.7	2.9	4.7	3.9	7.8	3.8	4.9	4.3	4.5	6.0	13.2	4.3	6.7	11664.5	2599	4.49	
	Total time	4.1	4.4	4.2	4.3	3.5	5.4	5.9	10.5	5.8	6.3	5.2	5.9	7.3	13.8	5.4	8.4	15942.5	2599	6.13		
February 2015	Number of Calls	77	112	288	125	42	147	92	129	230	191	141	65	56	176	13	123	76	2083			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	0.7	0.6	0.7	0.7	0.6	1.3	0.8	1.5	0.8	1.0	1.7	1.2	1.0	1.0	0.6	1.0	1.4	2055.5	2083	0.99	
	Police Response Time	2.9	3.5	2.9	3.2	3.5	2.8	4.6	3.4	3.8	3.6	4.1	4.5	5.2	6.1	9.7	5.5	6.4	8356.9	2083	4.01	
	Total time	3.6	4.1	3.6	3.9	4.1	5.4	4.9	4.6	4.6	5.8	5.7	6.2	7.1	10.3	6.5	7.8	10412.4	2083	5.00		
March 2015	Number of Calls	98	124	420	188	57	241	125	136	341	218	187	86	86	208	8	82	91	2696			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	0.6	0.6	0.9	1.1	0.5	0.7	0.9	0.7	1.0	0.8	0.8	0.6	0.6	1.1	0.7	0.8	1.3	2309.4	2696	0.86	
	Police Response Time	2.7	3.3	2.9	2.9	3.3	2.8	4.1	3.1	3.4	3.5	4.7	4.7	4.8	6.2	10.1	4.0	6.8	10169.5	2696	3.77	
	Total time	3.3	3.9	3.8	4.0	3.8	5.0	3.8	4.4	4.3	5.5	5.3	5.4	7.3	10.8	4.8	8.1	12478.9	2696	4.63		
April 2015	Number of Calls	98	112	441	186	44	220	109	143	331	226	180	107	57	212	5	104	90	2665			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	0.7	0.9	1.0	0.9	0.8	1.0	1.2	1.3	1.0	1.2	0.9	0.8	0.9	0.8	1.5	1.0	1.1	2630.9	2665	0.99	
	Police Response Time	2.2	3.2	2.9	2.9	3.1	2.8	4.2	3.4	2.9	4.0	4.2	4.2	5.2	6.4	8.0	4.1	5.7	9790.6	2665	3.67	
	Total time	2.9	4.1	3.9	3.8	3.9	5.4	4.7	3.9	5.2	5.1	5.0	6.1	7.2	9.5	5.1	6.8	12421.5	2665	4.66		
May 2015	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	3192			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	1.4	1.0	0.9	1.4	0.6	0.9	2.0	1.2	1.6	1.3	1.0	1.0	1.3	1.7	1.0	1.5	1.9	4112.1	3192	1.29	
	Police Response Time	2.8	3.4	2.9	3.1	3.2	2.9	4.3	3.5	3.3	3.7	4.3	4.6	5.0	6.0	10.2	4.5	6.6	12139.6	3192	3.80	
	Total time	4.2	4.4	3.8	4.5	3.8	6.3	4.7	4.9	5.0	5.3	5.6	6.3	7.7	11.2	6.0	8.5	16251.7	3192	5.09		
<b>YEAR TO DATE TOTALS AND AVERAGES</b>																						
		Total Number of Calls							13235.0													
		Total Number of Exceptions							0.0													
		Average Dispatch Response Time							1.15													
		Average Police Response Time							3.95													
		Average Total Time							5.10													

City of Peoria  
Emergency Communications Center

Police Department  
Routine Calls for Service  
By Police District

	VALLEY								BLUFF			RICHWOODS								Total Calls	Total Minutes	Calls	Average
	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19						
January 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	2336			(total min/total calls)	
	Number of Calls	64	143	235	135	77	125	133	118	256	198	180	111	89	228	8	144	92	0				
	Exceptions																						
	Dispatch Response Time	11.2	7.5	8.8	9.0	7.6	8.5	11.2	8.9	15.0	15.3	12.6	12.9	11.5	14.6	16.0	10.1	10.1	26693.0	2336		11.43	
February 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	2147			(total min/total calls)	
	Number of Calls	54	133	242	130	83	96	109	99	226	159	131	105	86	208	2	171	113	0				
	Exceptions																						
	Dispatch Response Time	10.7	9.8	9.6	14.4	10.7	8.6	11.7	9.9	15.6	11.4	10.8	13.2	10.1	14.1	7.0	11.4	10.4	25118.1	2147		11.70	
March 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	2519			(total min/total calls)	
	Number of Calls	83	129	274	147	81	127	128	127	325	189	150	106	95	267	2	157	132	0				
	Exceptions																						
	Dispatch Response Time	9.8	11.8	11.7	12.3	9.9	13.4	15.9	10.7	13.5	14.6	14.3	10.3	10.0	16.7	2.0	9.8	13.0	32298.5	2519		12.82	
April 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	2579			(total min/total calls)	
	Number of Calls	67	147	264	130	86	154	140	151	375	249	173	100	98	202	4	128	111	0				
	Exceptions																						
	Dispatch Response Time	9.8	12.7	14.3	16.2	14.2	13.8	14.7	11.3	17.0	17.1	14.0	8.3	14.3	15.5	27.0	12.0	16.6	37419.3	2579		14.51	
May 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	3192			(total min/total calls)	
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
	Exceptions																						
	Dispatch Response Time	1.4	1.0	0.9	1.4	0.6	0.9	2	1.2	1.6	1.3	1.0	1.0	1.3	1.7	1.0	1.5	1.9	4112.1	3192		1.29	
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
	Exceptions																						
	Average Dispatch Response Time	4.2	4.4	3.8	4.5	3.8	3.8	6.3	4.7	4.9	5.0	5.3	5.6	6.3	7.7	11.2	6.0	8.5	10.35				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	12773				
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0				
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19</					

City of Peoria  
Emergency Communications Center

Police Department  
Backlog Calls for Service  
By Police District

	Police District	VALLEY								BLUFF			RICHWOODS							Total Calls	(total min/total calls)	
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
January 2015	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	114	Calls	Average	
	Exceptions	1	2	34	5	1	3	6	10	11	10	5	6	4	12	1	0	3	0			
	Dispatch Response Time	6.0	20.5	6.6	0.0	1.0	10.0	39.5	7.8	19.4	54.1	32.6	8.5	6.8	14.3	27.0	0.0	5.3	1827.5	114	16.03	
	Police Response Time	8.0	10.1	14.2	0.0	0.0	6.0	8.7	4.4	6.8	5.0	4.0	13.7	5.0	10.9	3.0	0.0	10.0	1036.0	114	9.09	
	Total time	14.0	30.6	20.8	0.0	1.0	16.0	48.2	12.2	26.2	59.1	36.6	22.2	11.8	25.2	30.0	0.0	15.3	2863.5	114	25.12	
February 2015	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	148	Calls	Average	
	Exceptions	6	32	10	5	3	5	12	9	8	8	11	6	7	11	1	7	7	0			
	Dispatch Response Time	26.0	25.2	11.9	53.8	20.0	17.0	7.5	28.4	22.1	27.7	32.8	10.5	68.1	61.1	8.0	8.1	23.3	4039.8	148	27.30	
	Police Response Time	4.3	8.9	4.6	5.4	5.3	3.5	8.7	6.0	5.4	3.7	9.8	8.3	8.2	12.5	16.0	7.6	10.4	1142.7	148	7.72	
	Total time	30.3	34.1	16.5	59.2	25.3	20.5	16.2	34.4	27.5	31.4	42.6	18.8	76.3	73.6	24.0	15.7	33.7	5182.5	148	35.02	
March 2015	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	154	Calls	Average	
	Exceptions	4	33	14	14	2	11	8	3	18	8	10	3	3	10	0	3	10	0			
	Dispatch Response Time	29.3	17.8	20.8	53.8	26.5	22.3	20.8	11.7	22.6	24.8	31.6	13.0	16.0	43.9	0.0	0.5	33.3	4030.5	154	26.17	
	Police Response Time	4.5	9.4	8.0	5.9	2.5	4.5	7.6	9.0	7.2	7.5	7.3	6.0	20.0	9.0	0.0	7.3	9.4	1211.6	154	7.87	
	Total time	33.8	27.2	28.8	59.7	29.0	26.8	28.4	20.7	29.8	32.3	38.9	19.0	36.0	52.9	0.0	7.8	42.7	5242.1	154	34.04	
April 2015	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	163	Calls	Average	
	Exceptions	3	45	9	5	5	4	9	11	11	10	6	6	5	15	0	12	7	0			
	Dispatch Response Time	15.7	22.5	27.1	15.2	2.0	11.3	28.9	12.3	58.2	18.1	24.8	24.0	46.2	11.7	0.0	12.8	1.7	3516.1	163	21.57	
	Police Response Time	2.7	9.5	4.1	4.6	9.8	3.7	3.5	8.3	3.2	5.4	12.4	6.7	6.5	8.0	0.0	6.7	7.1	1168.5	163	7.17	
	Total time	18.4	32.0	31.2	19.8	11.8	15.0	32.4	20.6	61.4	23.5	37.2	30.7	52.7	19.7	0.0	19.5	8.8	4684.6	163	28.74	
May 2015	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	2992	Calls	Average	
	Exceptions	89	145	340	195	98	177	155	143	430	269	189	115	113	233	7	149	145	0			
	Dispatch Response Time	9.3	12.1	15.0	19.0	13.8	17.7	21.6	16.4	18.6	18.1	16.2	14.1	15.2	17.6	39.6	15.8	17.9	50161.2	2992	16.77	
	Police Response Time	4.2	5.9	4.2	4.7	6.4	4.1	6.0	5.4	4.7	6.1	5.3	6.6	7.5	9.5	12.3	7.1	7.7	17373.0	2992	5.81	
	Total time	13.5	18.0	19.2	23.7	20.2	21.8	27.6	21.8	23.3	24.2	21.5	20.7	22.7	27.1	51.9	22.9	25.6	67534.2	2992	22.57	
<b>YEAR TO DATE TOTALS AND AVERAGES</b>																						
																Total Number of Calls			3571			
																Total Number of Exceptions			0.0			
																Average Dispatch Response Time			21.57			
																Average Police Response Time			7.53			
																Average Total Time			29.10			

City of Peoria  
Emergency Communications Center

Peoria Fire Department  
Fire Calls for Service  
By Fire Map

	Fire Map	VALLEY				BLUFF			RICHWOODS					Total Calls	Total Minutes	Calls	Average
		100-199	200-299	400-499	1200-1299	300-399	1000-1099	1100-1199	1300-1399	1500-1599	1600-1699	1900-1999	2000-2099				
January 2015	Number of Calls	279	113	205	69	124	159	107	231	50	144	76	54	1611			(total min/total calls)
	Dispatch Response Time	0.6	1.2	0.6	0.2	1.0	0.9	0.6	0.6	0.7	0.8	0.8	0.8	1163.9	1611	0.72	
	Fire Response Time	3.5	3.9	4.2	5.9	4	4.9	4.6	4.7	5.2	5.1	6.4	6.2	7353.9	1611	4.56	
	Total time	4.1	5.1	4.8	6.1	5.0	5.8	5.2	5.3	5.9	5.9	7.2	7.0	8517.8	1611	5.29	
February 2015	Number of Calls	257	100	185	62	133	125	92	198	40	133	62	31	1418			(total min/total calls)
	Dispatch Response Time	0.4	0.3	0.8	0.5	0.7	0.6	0.2	0.3	1.2	0.8	0.6	0.3	758.6	1418	0.53	
	Fire Response Time	3.5	4.2	4.3	5.9	4.2	5	4.4	4.8	5	4.6	6.1	6.5	6411.1	1418	4.52	
	Total time	3.9	4.5	5.1	6.4	4.9	5.4	4.6	5.1	6.2	5.4	6.7	6.8	7169.7	1418	5.06	
March 2015	Number of Calls	246	74	212	119	158	138	96	203	39	141	59	38	1523			(total min/total calls)
	Dispatch Response Time	0.5	0.9	0.3	0.4	0.8	0.8	0.8	0.8	1.3	0.5	0.4	0.6	944.4	1523	0.62	
	Fire Response Time	3.5	5.3	4.1	3.9	3.9	4.6	4	4.5	5.1	4.8	5.8	5.2	6550.5	1523	4.30	
	Total time	4.0	6.2	4.4	4.3	4.7	5.4	4.8	5.3	6.4	5.3	6.2	5.8	7494.9	1523	4.92	
APRIL 2015	Number of Calls	270	107	228	57	153	163	109	197	41	125	71	31	1552			(total min/total calls)
	Dispatch Response Time	1.0	0.3	1.2	0.7	0.7	0.4	0.4	0.9	0.3	0.5	0.3	1.1	1139.0	1552	0.73	
	Fire Response Time	3.4	3.9	3.9	5.8	3.8	4.6	4.1	4	4.4	4.5	5.3	8.4	6500.8	1552	4.19	
	Total time	4.4	4.2	5.1	6.5	4.5	5.0	4.5	4.9	4.7	5.0	5.6	9.5	7639.8	1552	4.92	
May 2015	Number of Calls	284	115	244	89	164	165	107	182	48	130	79	34	1641			(total min/total calls)
	Response Time	0.6	0.9	0.8	0.5	0.5	1.1	0.5	0.8	1.0	0.5	0.8	0.2	1159.2	1641	0.71	
	Time	3.2	4	4	4.8	3.9	4.6	3.9	4.6	4.4	4.4	5.4	6.3	6849.1	1641	4.17	
	Total time	3.8	4.9	4.8	5.3	4.4	5.7	4.4	5.4	5.4	4.9	6.2	6.5	8008.3	1641	4.88	
<b>YEAR TO DATE TOTALS AND AVERAGES</b>																	
Total Number of Calls												7745					
Average Dispatch Response Time												0.66					
Average Fire Response Time												4.35					
Average Total Time												5.01					

Peoria Fire Department  
Average Turn-Out Time for Each Apparatus

	<b>JAN</b>	<b>FEB</b>	<b>MAR</b>	<b>APR</b>	<b>MAY</b>	<b>JUN</b>	<b>JUL</b>	<b>AUG</b>	<b>SEP</b>	<b>OCT</b>	<b>NOV</b>	<b>DEC</b>	<b>Yearly Average</b>
B1	1.5	1.5	1.4	1.5	1.5								<b>1.48</b>
E1	1.5	1.5	1.5	1.4	1.4								<b>1.46</b>
R1	1.4	1.4	1.5	1.4	1.4								<b>1.42</b>
T1	1.9	1.8	1.7	1.6	1.7								<b>1.74</b>
E10	1.4	1.5	1.5	1.4	1.4								<b>1.44</b>
E12	1.7	1.6	1.6	1.5	1.4								<b>1.56</b>
E13	1.6	1.5	1.5	1.4	1.4								<b>1.48</b>
T14	1.7	1.7	1.8	1.7	1.7								<b>1.72</b>
E15	1.7	1.8	1.6	1.4	1.6								<b>1.62</b>
E16	1.7	1.6	1.4	1.5	1.4								<b>1.52</b>
E19	1.7	1.6	1.7	1.5	1.5								<b>1.60</b>
E2	1.7	1.7	1.6	1.6	1.5								<b>1.62</b>
R2	1.4	1.4	1.3	1.4	1.2								<b>1.34</b>
E20	1.8	1.9	1.7	1.6	1.5								<b>1.70</b>
B3	1.6	1.6	1.6	1.6	1.5								<b>1.58</b>
E3	1.4	1.3	1.3	1.2	1.3								<b>1.30</b>
T3	1.5	1.6	1.5	1.4	1.5								<b>1.50</b>
E4	1.5	1.4	1.5	1.3	1.4								<b>1.42</b>
T4	1.7	1.5	1.5	1.3	1.5								<b>1.50</b>
												Department Average	<b>1.53</b>

City of Peoria  
Emergency Communications Center  
Peoria County Sheriff's Department  
Urgent calls for service by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
January 2015	Number of Calls	3	1	14	2	95	84	42	14	30	37	74		396		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	2.7	0.0	1.8	1.0	1.3	2.1	1.2	1.1	0.2	2.4	0.8		555.0	396	1.40
	Police Response Time	1.5	27.0	5.1	18.0	7.9	7.2	10.1	9.8	4.3	9.5	3.5		2795.1	396	7.06
	Total time	4.2	27.0	6.9	19.0	9.2	9.3	11.3	10.9	4.5	11.9	4.3		3350.1	396	8.46
February 2015	Number of Calls	2	4	7	0	71	84	37	5	28	30	68		336		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	0.0	1.5	1.0	0.0	2.6	2.4	1.5	0.7	0.4	1.2	1.2		587.0	336	1.75
	Police Response Time	3.0	12.8	7.6	0.0	9.3	7.9	9.8	5.3	3.6	10.5	3.6		2484.0	336	7.39
	Total time	3.0	14.3	8.6	0.0	11.9	10.3	11.3	6.0	4.0	11.7	4.8		3071.0	336	9.14
March 2015	Number of Calls	5	1	11	1	103	90	50	16	46	36	89		448		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	9.7	0.0	5.1	1.0	1.5	1.4	1.3	0.6	1.1	3.3	1.0		719.1	448	1.61
	Police Response Time	2.6	20.0	4.8	24.0	7.9	6.6	10.7	4.4	3.5	6.7	3.7		2854.4	448	6.37
	Total time	12.3	20.0	9.9	25.0	9.4	8.0	12.0	5.0	4.6	10.0	4.7		3573.5	448	7.98
April 2015	Number of Calls	5	4	12	1	113	94	56	11	43	29	85		453		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	2.3	1.0	0.7	0.0	2.1	2.4	1.7	0.6	2.2	0.8	0.8		774.4	453	1.71
	Police Response Time	5.6	14.0	9.0	1.0	7.1	5.8	11.6	5.5	3.3	8.8	4.1		2996.2	453	6.61
	Total time	7.9	15.0	9.7	1.0	9.2	8.2	13.3	6.1	5.5	9.6	4.9		3770.6	453	8.32
May 2015	Number of Calls	4	4	12	4	109	98	57	11	46	45	102		492		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	1.0	0.5	0.3	0.3	1.4	2.9	3.5	0.6	1.3	1.2	1.5		920.5	492	1.87
	Police Response Time	3.3	11.7	8.6	12.8	8.9	7.1	9.9	7.1	3.0	7.4	3.2		3320.1	492	6.75
	Total time	4.3	12.2	8.9	13.1	10.3	10.0	13.4	7.7	4.3	8.6	4.7		4240.6	492	8.62
<b>YEAR TO DATE TOTALS AND AVERAGES</b>																
	Total Number of Calls												2125			
	Total Number of Exceptions												0			
	Average Dispatch Response Time												1.67			
	Average Police Response Time												6.84			
	Average Total Time												8.50			

City of Peoria  
Emergency Communications Center  
Peoria County Sheriff's Department  
Routine calls by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls	Total Minutes	Calls	Average
		Number of Calls	32	3	13	3	100	148	78	19	41	55	65	557			
January 2015	Exceptions													0			(total min/total calls)
	Dispatch Response Time	10.0	7.3	11.8	38.0	7.9	8.4	9.3	11.1	11.6	8.3	6.9		4959.4	557	8.90	
	Police Response Time	5.9	15.3	7.3	10.3	11.7	9.0	14.1	9.3	6.0	8.6	5.4		5209.0	557	9.35	
	Total time	15.9	22.6	19.1	48.3	19.6	17.4	23.4	20.4	17.6	16.9	12.3		10168.4	557	18.26	
February 2015	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls			
	Number of Calls	40	8	7	2	105	124	48	11	22	42	78		487			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	5.3	4.6	8.9	10.5	8.8	7.2	9.1	8.6	4.1	5.0	6.1		3456.3	487	7.10	
	Police Response Time	3.9	16.6	12.0	6.0	10.1	8.1	14.5	8.4	4.3	9.7	4.6		4098.9	487	8.42	
Total time	9.2	21.2	20.9	16.5	18.9	15.3	23.6	17.0	8.4	14.7	10.7		7555.2	487	15.51		
March 2015	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls			
	Number of Calls	48	7	18	3	112	117	48	10	35	39	91		528			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	7.9	3.2	9.8	24.0	15.3	13.0	5.9	2.6	6.2	9.5	7.0		5418.3	528	10.26	
	Police Response Time	4.5	17.1	9.6	15.0	9.6	8.5	12.3	13.8	5.6	12.8	5.2		4520.0	528	8.56	
Total time	12.4	20.3	19.4	39.0	24.9	21.5	18.2	16.4	11.8	22.3	12.2		9938.3	528	18.82		
April 2015	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls			
	Number of Calls	44	9	10	1	132	148	79	19	46	58	88		634			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	19.0	7.4	9.4	0.0	12.5	16.1	9.4	9.1	8.2	5.7	7.9		7347.9	634	11.59	
	Police Response Time	6.2	17.8	7.7	13.0	11.0	8.5	11.4	15.7	3.9	9.5	4.1		5523.1	634	8.71	
Total time	25.2	25.2	17.1	13.0	23.5	24.6	20.8	24.8	12.1	15.2	12.0		12871.0	634	20.30		
May 2015	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls			
	Number of Calls	36	11	11	3	180	143	72	25	42	57	111		691			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	5.5	5.6	18.9	19.0	11.3	12.7	9.6	10.7	6.5	7.4	9.5		7082.6	691	10.25	
	Police Response Time	5.0	21.4	7.8	16.7	9.3	8.7	14.2	12.8	3.9	9.0	6.3		6187.9	691	8.95	
Total time	10.5	27.0	26.7	35.7	20.6	21.4	23.8	23.5	10.4	16.4	15.8		13270.5	691	19.20		
<b>YEAR TO DATE TOTALS AND AVERAGES</b>																	
	Total Number of Calls												2897.0				
	Total Number of Exceptions												0				
	Average Dispatch Response Time												9.62				
	Average Police Response Time												8.80				
	Average Total Time												18.42				

City of Peoria  
 Emergency Communications Center  
 Peoria County Sheriff's Department  
 Backlog Calls for Service by District

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls			
		Number of Calls															(total min/total calls)
January 2015	Number of Calls	6	0	1	1	8	6	6	1	1	2	1		33			
	Exceptions													0			
	Dispatch Response Time	71.5	0.0	3.0	1.0	10.6	6.2	13.2	43.0	0.0	2.5	1.0		683.2	33	20.7	
	Police Response Time	16.3	0.0	0.0	15.0	15.0	10.5	12.7	29.0	6.0	13.5	4.0		438.0	33	13.3	
	Total time	87.8	0.0	3.0	16.0	25.6	16.7	25.9	72.0	6.0	16.0	5.0	0.0	1121.2	33	34.0	
February 2015	Number of Calls	7	0	1	0	5	10	5	0	2		1		31			
	Exceptions													0			
	Dispatch Response Time	77.7	0.0	0.0	0.0	6.0	4.9	2.2	0.0	18.5	0.0	2.0		672.9	31	21.7	
	Police Response Time	13.4	0.0	0.0	0.0	10.2	10.4	12.3	0.0	15.5	0.0	1.0		342.3	31	11.0	
	Total time	91.1	0.0	0.0	0.0	16.2	15.3	14.5	0.0	34.0	0.0	3.0	0.0	1015.2	31	32.7	
March 2015	Number of Calls	11	1	6	0	9	6	2	0	0	1	7		43			
	Exceptions													0			
	Dispatch Response Time	104.2	3.0	43.3	0.0	14.9	3.8	3.0	0.0	0.0	1.0	18.8		1704.5	43	39.6	
	Police Response Time	15.7	29.0	0.0	0.0	11.8	5.8	12.0	0.0	0.0	4.0	4.3		400.8	43	9.3	
	Total time	119.9	32.0	43.3	0.0	26.7	9.6	15.0	0.0	0.0	5.0	23.1	0.0	2105.3	43	49.0	
April 2015	Number of Calls	13	0	3	0	4	9	4	0	2	3	4		42			
	Exceptions													0			
	Dispatch Response Time	148.0	0.0	31.3	0.0	18.3	5.6	6.5	0.0	9.0	28.7	23.7		2366.4	42	56.3	
	Police Response Time	23.7	0.0	13.5	0.0	7.0	9.4	10.3	0.0	2.5	12.0	2.3		552.6	42	13.2	
	Total time	171.7	0.0	44.8	0.0	25.3	15.0	16.8	0.0	11.5	40.7	26.0	0.0	2919.0	42	69.5	
May 2015	Number of Calls	6	0	2	0	4	12	7	1	0	6	10		48			
	Exceptions													0			
	Dispatch Response Time	165.5	0.0	3.0	0.0	25.0	17.0	12.0	0.0	0.0	10.7	4.7		1498.2	48	31.2	
	Police Response Time	13.3	0.0	9.0	0.0	9.8	8.9	13.3	19.0	0.0	8.8	4.0		448.7	48	9.3	
	Total time	178.8	0.0	12.0	0.0	34.8	25.9	25.3	19.0	0.0	19.5	8.7	0.0	1946.9	48	40.6	
<b>YEAR TO DATE TOTALS AND AVERAGES</b>																	
	Total Number of Calls												197				
	Total Number of Exceptions												0				
	Average Dispatch Response Time												33.92				
	Average Police Response Time												11.23				
	Average Total Time												45.15				



HISTORIC PRESERVATION COMMISSION  
WEDNESDAY, JUNE 24, 2015  
CITY HALL, ROOM 400 – 8:30 A.M.

AGENDA

1. CALL TO ORDER
2. ROLL CALL
3. APPROVAL OF THE APRIL 22 AND MAY 27, 2015 MINUTES

4. REGULAR BUSINESS

*Deliberations will be held at the end of each case after public comment has been closed. No public comment is allowed during deliberations.*

**CASE NO.**  
HPC 15-03  
(Continued  
from  
05/27/2015)

Public Hearing on the request of the City of Peoria to amend Article 16 of the Code of Ordinances, the Historic Preservation Ordinance, relating to various text amendments.

**CASE NO.**  
HPC 15-04

Public Hearing on the request of Brandon Hauer to designate the single-family residential structure located at 1512 W Barker Avenue (Parcel Identification No. 18-08-128-006), Peoria, IL as a local historic landmark. (Council District 2).

5. ELECTION OF OFFICERS *(Continued from 4/22/2015)*
6. CITIZENS' OPPORTUNITY TO ADDRESS THE COMMISSION
7. ADJOURNMENT

			HOUSING COURT 6/9/15	66 CASES			
DG	NO	09:45 AM	PEQUETTE TROY	HC-15-172	FORREST HILL 0702 W	09-Jun-15	REVIEW
DG	NO	09:45 AM	DZURAK JOHN	HC-15-253	GIFT 1111 W	09-Jun-15	REVIEW
DG	NO	09:45 AM	COHEN JEFF	HC-15-084	MACQUEEN 0711	09-Jun-15	REVIEW
DG	O	09:45 AM	RUSSELL GAIL	HC-15-144	VIRGINIA 0717 W	09-Jun-15	REVIEW
GW	O	09:00 AM	PHILLIPS JAMES/FRANCES	HC-15-477	GARDEN 2023	09-Jun-15	FIRST APPEARANCE
GW	NO	09:45 AM	BARNETT LOUIS	HC-15-345	HAYWARD 0406	09-Jun-15	REVIEW
GW	NO	09:00 AM	BERRY CHAD	HC-15-478	HELEN 0817	09-Jun-15	FIRST APPEARANCE
GW	NO	09:45 AM	WICKS MARCIA/RICHARD	HC-15-093	HOWETT 1300	09-Jun-15	REVIEW
GW	NO	09:00 AM	CLARK GALYN	HC-15-483	KETTELLE 1813	09-Jun-15	FIRST APPEARANCE
GW	NO	09:00 AM	DAVIS MARY	HC-15-476	LOUISA 0921	09-Jun-15	FIRST APPEARANCE
GW	O	09:45 AM	HANASKI/LUDWIG	HC-15-347	MADISON 1503 NE	09-Jun-15	REVIEW
GW	O	09:00 AM	BOWMAN BERNICE/PATRICIA	HC-15-482	STANLEY 1922	09-Jun-15	FIRST APPEARANCE
GW	O	09:00 AM	KRIGNER TRACY	HC-15-480	WESTERN 0806	09-Jun-15	FIRST APPEARANCE
GW	O	09:00 AM	SHINKLE WILMA/JAMES	HC-15-479	WESTERN 0909	09-Jun-15	FIRST APPEARANCE
GW	NO	09:00 AM	COTTON REAL ESTATE	HC-15-475	WESTERN 0930 S	09-Jun-15	FIRST APPEARANCE
GW	NO	09:00 AM	PIERSON DAVID/CONRAD	HC-15-481	WESTERN 1028	09-Jun-15	FIRST APPEARANCE
GW	NO	09:45 AM	HARDESTY ENTERPRISES	HC-15-242	WESTERN 1501 S	09-Jun-15	REVIEW
LA	O	09:00 AM	SANDERS VERGURE/YVETTE	HC-15-495	ARCADIA 0752 E	09-Jun-15	FIRST APPEARANCE
LA	O	09:45 AM	LEWIS TAMARA	HC-15-038	CORRINGTON 0617 E	09-Jun-15	REVIEW
LA	NO	09:00 AM	LEMAN MARK	HC-15-496	GIFT 0508 E	09-Jun-15	FIRST APPEARANCE
LA	NO	09:00 AM	SHELABARGER CHERYL	HC-15-493	KANSAS 0733 E	09-Jun-15	FIRST APPEARANCE
LA	NO	09:00 AM	CONSOLIDATED PROPERTIES	HC-15-494	KANSAS 0735 E	09-Jun-15	FIRST APPEARANCE
LA	NO	09:00 AM	QUICKEN LOANS	HC-15-499	KELLARY PKWY 0521	09-Jun-15	FIRST APPEARANCE
LA	NO	09:00 AM	NATH SYLVIA	HC-15-497	REPUBLIC 0600 E	09-Jun-15	FIRST APPEARANCE
LA	O	09:45 AM	JACKSON MICHAEL	HC-15-332	REPUBLIC 0613 E	09-Jun-15	REVIEW
LA	NO	09:45 AM	HAMM THOMAS/JENNIFER	HC-15-043	REPUBLIC 0703 E	09-Jun-15	REVIEW
LA	O	09:00 AM	HAWKINS MYRNA	HC-15-498	RICHWOODS 2117	09-Jun-15	FIRST APPEARANCE
LA	O	09:45 AM	SHULTS SARAH	HC-15-139	SENECA 0523 E	09-Jun-15	REVIEW
LA	O	09:45 AM	WATSON LC	HC-15-357	THRUSH 0412 E	09-Jun-15	REVIEW
LE	O	09:00 AM	ROBERTS KATHLEEN/CHARLES	HC-15-469	AYRES 1719	09-Jun-15	FIRST APPEARANCE
LE	O	09:00 AM	ERKE STEPHEN	HC-15-473	BARKER 1528	09-Jun-15	FIRST APPEARANCE
LE	NO	09:00 AM	TATE LESLIE/PERRY	HC-15-472	BARKER 1608	09-Jun-15	FIRST APPEARANCE
LE	O	09:00 AM	CARLSON MATTHEW	HC-15-425	BARKER 1718	09-Jun-15	REVIEW
LE	NO	09:00 AM	CONSOLIDATED PROPERTIES	HC-14-678	BROADWAY 1319	09-Jun-15	REVIEW
LE	O	09:00 AM	SELLERS MILDRED	HC-15-241	COLUMBIA TERR 1409	09-Jun-15	REVIEW
LE	NO	09:00 AM	BRADLEY UNIVERSITY	HC-15-474	DURYEA 0706	09-Jun-15	FIRST APPEARANCE
LE	NO	09:00 AM	CONSOLIDATED PROPERTIES	HC-15-358	ELLIS 1202	09-Jun-15	REVIEW
LE	O	09:00 AM	GRADY ALAN	HC-14-675	ELMWOOD 1020	09-Jun-15	REVIEW
LE	O	09:00 AM	DEVANNEY SEAN	HC-15-471	ELMWOOD 1212	09-Jun-15	FIRST APPEARANCE
LE	O	09:00 AM	BECKLER KENNETH/BETHE	HC-15-470	INSTITUTE 1022	09-Jun-15	FIRST APPEARANCE
LE	O	09:00 AM	SAVOIE MARINA	HC-15-363	MAPLEWOOD 1026	09-Jun-15	REVIEW

LE	O	09:00 AM	LICHTENBERGER LIZ/JEFF	HC-15-356	MAPLEWOOD 1215	09-Jun-15	REVIEW	
LE	NO	09:00 AM	CONSOLIDATED PROPERTIES	HC-15-362	NORTH 1409	09-Jun-15	REVIEW	
LE	NO	09:00 AM	HERNANDEZ CECILIO	HC-15-468	SHERIDAN 1317	09-Jun-15	FIRST APPEARANCE	
PM	NO	09:00 AM	KILLIPS DANIEL	HC-15-221	ASHTON 3708	09-Jun-15	REVIEW	
PM	O	09:00 AM	ROARK ALLEN	HC-14-704	CENTRAL 2142	09-Jun-15	REVIEW	
PM	NO	09:00 AM	GREEN LINDA	HC-15-489	DELAWARE 2322	09-Jun-15	FIRST APPEARANCE	
PM	NO	09:00 AM	L H PEORIA INVESTMENTS	HC-15-485	DELAWARE 2410	09-Jun-15	FIRST APPEARANCE	
PM	NO	09:00 AM	NEAL/BARNES	HC-14-613	FRYE 1009 E	09-Jun-15	REVIEW/DEFAULT PEND \$1000	
PM	O	09:00 AM	KELLEHER LADONNA/ROBERT	HC-15-064	FRYE 1114 E	09-Jun-15	FIRST APPEARANCE	
PM	O	09:00 AM	BROCK FLORESTINE	HC-15-488	MARYLAND 2312	09-Jun-15	FIRST APPEARANCE	
PM	O	09:00 AM	KENDALL JOHN	HC-15-129	MCCLURE 1000 E	09-Jun-15	REHEARING/DEFAULT \$300	
PM	O	09:00 AM	MCENROE LAURENCE	HC-15-490	MCCLURE 1018 E	09-Jun-15	FIRST APPEARANCE	
PM	O	09:00 AM	ANDERSON PAUL	HC-15-486	NEBRASKA 0909 E	09-Jun-15	FIRST APPEARANCE	
PM	O	09:00 AM	MAYS DORA	HC-15-254	NEBRASKA 1018 E	09-Jun-15	REVIEW	
PM	NO	09:00 AM	WHITE PROPERTIES	HC-15-487	ROUSE 1407	09-Jun-15	FIRST APPEARANCE	
PM	NO	09:00 AM	KWON BILL/KIRA	HC-15-492	TRIPP 1407 E	09-Jun-15	FIRST APPEARANCE	
PM	NO	09:00 AM	SOUTHEASTERN SIMON	HC-15-046	WAR MEMORIAL 2012	09-Jun-15	REVIEW	
PM	NO	09:00 AM	THIES BRANDON	HC-15-491	WISCONSIN 2214	09-Jun-15	FIRST APPEARANCE	
Rob	C	09:00 AM	COHEN	HC-14-430	ADAMS 0332/34/36 SW	09-Jun-15	REVIEW/PEND	
ROB	C	09:00 AM	JASON CATTON INC	HC-15-272	ADAMS 2212 SW	09-Jun-15	REVIEW/DEFAULT PEND \$1000	
SCA	NO	09:00 AM	BORDEAUX ENTERPRISES	HC-14-600	KNOXVILLE 5250	09-Jun-15	REVIEW	
SCA	O	09:00 AM	PERALTA/ZUNIGA	HC-15-369	MALONE 3006	09-Jun-15	FIRST APPEARANCE	
SCA	NO	09:00 AM	PENN TERRACE TOWERS	HC-15-484	PEORIA 1505	09-Jun-15	FIRST APPEARANCE	
SCA	NO	09:00 AM	TRENT ELDON/WANDA	HC-15-368	STARR 3005	09-Jun-15	REVIEW	
TA	NO	09:45 AM	HAMM THOMAS/JENNIFER	HC-15-045	ILLINOIS 0604 E	09-Jun-15	REVIEW	